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Q13) 21-15=6
54 +6=09
(9x21)=(9x15)=54
9x21=189
189+21=9
9 x 30 = 270
270 x 2 = 540

Q14)  a) 135
b) 1350

Q15) a) 836cm?*
b) 127.6cm

Q16) 60+ 80 =140
140 x 7 = 980

Q17) a) 20+12=232

48+32=15
b) 1.5x4=6

6x15=9
1.5x6=9
9x1.5=135
45x1.5=6.75
3x1.5=45
45+6.75+13.5+9=33.75
1.5x6=9
1.5x10=15
9x15=135 .
135-33.75=101.25
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C) '1lu minutes

Q13) a) £x=180°-59°-59°=62°

b) 360°-63°-117°-59°=121°
£GEF=180°-121°=59°
£CGE=360°-117°-59°-59°=125°
4y=180°-125°=55°

Q14) a) Zew=2

16 15
16u = 160
1u=10
15u = 150 nuggets
1
b) 7 of 160 = 40
65 — 40 =25
25 009 .
100 x100% = 62.5%
Q15) a) 13-5=8
44-8-5-5-5=21
Radius of small semi circle = 21 + 3 = 7cm
. . o (44-8)
b) Radius of big semi circle = — = 12

3.14x12x2=75.36
3.14x7x2=4296

75.36 + 42,96 +5+5+5+ 5+ 13
=152.43cm

Q16)

a) David = 150p
90u = 150p
Cathy baked = 20
David baked = 6p
6p—2u=72
2u=6p-72
90u =150p
90u = 270p — 3240
150p = 270p — 3240
3240 = 270p - 150p
120p = 3240
1p=27
150p = 4050
90u = 4050
U=45
2u=90
6p=27x6
=162
90+162 = 252

b) 22x5=110
162-110=52
9-5=4
52+4=43

Q17)

a) 30:2=15
460 + 30 = 15R10
15x2=30
30 x 15 = 450

b) 450+30=15
15-1=14
14+2=7
(7x1) + (7x2) +1 =22
(7 x22) + (7 x15) + 15 = 274




Henry Pa

&§3)

4)

rk 2021 Prelim Last 5gn ANS

12 (KD

10 x 10 4XY=78.5
120 — 78"
Y2 X 3.14 x 125002 = 113.04

1.54cm?

Q15)

c) 2992

Q16)

a) 13- 5%

b) 4G + 128 + 5G = 452
9G =452 + 28 = 324
10G = 324 x 10/9 = 360
13x156=195

195 + 360 = 555

Q17)

a)8+15=23
552 + 23 = 24
36 x 24 = 864

192 + 360 = 552
b) 80 + 6 = 13R2

360 + 13 = 27R9
27 +1=28
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625cm? + 25 x 9 = 225cm?
V225cm? = 15cm

25cm — 15cm = 10cm

Q13)
Y
7 v,
IY il
e ¢ A
374
/
Frontview [1] Topview  [1]
a)
b) 42cm?
Q14) V625¢m? = 25¢m

Q15) a) 30°
b) 105°
c) False
Not possible to tell
False
Q16) Ai)15
ii) 21

b)shaded 45 unshaded 36

|1 Q17)

40cm? + 2 = 20cm

Area of circle = 3.14 x 20cm x 20cm
= 1256cm?

40cm x 40cm = 1600cm?

1600cm? - 1256cm? = 344cm?

344cm? + 4 = 86cm?

86cm? x ¥ = 800cm?

1428cm? - 800cm? = 628cm?
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Q13) a) 62
b) $6.90
Q14) a) 105°
b) 64°
Q15) 140+5=28
28x3 =84
3u = 28¢
28 +36 =64
187.5+50=3.75
3.75x3=1.25
1.25x32=40
$40
Q16) a) 19cm
b) 219.32cm
c) 5cm
Q17)
a) Top View
b)1
c) 7cm
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Q13) a) Area of big% circle = %x T x 8% = 321 cm?
Area of small -i— circle = %x nx6® = 181 cm?

32m- 181 = 141
141 x 3 =421 cm? = 131.95 cm?

b) Arc ofbig%circle =%xnx16= 8mcm

Arc of small % circle = % XTX12= 6T cm
8mx 3 =24n

6mx3=18m

241+ 18m+ (4x 2) = 421 + 8 = 139.95 cm

Q14) a)7+2=9
40 x9 = 360 cards each
360x2 =720
720 - 384 = 336 cards
b) 360 - 336 = 24 (John lack)
24 + 2 =12 (cards John traded for special card)
40x2 =80
80 - 12 = 68 cards

Q15) a) 10 min

b) Tap A: 5 min - 25 £
1min—>25¢+5=5¢

AandB: 150 £-50 ¢ =100 4 in 5 min
1 min— 100¢ +5=20+¢

Tap B: 20£-5¢=15¢

Q16) a) £AOE =180°-103°=77°
£EOB = 180° - 58°- 58°=64°
£FOB = 360° - 103°- 77°- 64°=116°
4FBO = (180°- 116°) + 2 =32°
b) £0AC = 180° - 77° - 64°= 39° (interior angles. AC // OB)

Q17) @@ 12+12=24
(@(i)13 +34 =37

(b) Figure 10 (even number)
Total squares: (10 + 1%) =121
White squares: (121 -1) =2 =60
() Va41=21
Figure Number = 21 -1 =20
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Q13) 21cm +4cm + 4cm =29cm
29cm +5=5.8cm
87cm +5.8cm =14

Q14) a) Monday
b) 91

Q15) 6u + 12u =576
18u =576
U=32
7u =224
8u—-26=70
224 — 70 =154

Q16)  a) 75°
b) 80°

c) False
False

Q17) a) 12cm x 3.14 = 37.68cm
b) 12cm /2 =6cm

6cm x 6cm x 3.14 = 113.04cm?
12cm X 12cm = 144cm?
144cm? - 113.04cm? = 30.96cm?
30.96cm?4 = 7.74cm?
113.04cm? x 2 = 226.08cm?
226.08cm? - 144cm? = 82.08cm?
82.08cm?/4 = 20.52cm?

144cm? - 7.74cm? - 113.04cm? + 20.52cmi’; = 43.74cm?
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Q13)

5u=770

1u =154

3u =462

462 +33 =14

14x2 =28

33-14=19
a) 14cm
b) 132cm

Q14)

a) 40°
b) 30°

Q15)

a) 10
b) 20%

Q16)

a) 180 —32 = 148
1+8-90-90=-32
45-32=13
180—90 —13 = 77
13°

b) 77°

Q17)

a A B
b) 70
c) Small 39

Large 9
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Q13)

a) 8cm
b);x3.14x16 = 12.56

(:)%xiix16=64cmZ

Q14)

a) 2020

b) == x 60000 = 75000

5200

0/, —
€) oot % 100% = 520%

Q15)

41x2=82
256 -82=174
174 +29=6
6+2=8

Q16)

a) 18 220

18

441

b) 26
€)729=27 x 27
27-1=26
840 + 841 = 1681
1681 = 41 x 41
41-1=40

Q17)

a)4x42=168
b) 18 faces
c) 17
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\V )L

Q13)

30x 10 X 20 = 6000

5
6000 x 3= 3750

15x 15 x 15 = 3375
3750 — 3375 = 375
375ml = 0.3751
(a)3750cm?
(b)0.3751

Q14)

45 —-18 =27
45+ 18 = 63
180 — 63 — 63 =54
90 - 54 =36
(180 —-36) ~2 =72
90-72=18
(a) = 54°
(b)18°

Q15)

8x2=16
16 +4=4
4x2=28

1
ZX 16 X 3.14 = 12.56

8 x 3.14 = 25.12

2512+ 12,56 + 16 + 8 + 8 = 69.68

(a) 8cm
(b)69.68cm

Q16)

ml:dl:t=2:1:3=4:2:6

4u =152
u = 38
2u=176

7u = 266
(a)76
(b)266

Q17)

16107 — 663 = 15444

15444 + 2 = 7722
7722 + 3 = 2574

7722 + 663 = 8385
8385 + 5 = 1677

2574 — 1677 = 897

897 + 69 = 13
13X 5 = 65
(@)$7722
(b)65
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yoy+3e ] o]

Q13)

12p —12u=7cm X 12 = 84cm
3pdiff =7cm x 3 = 21cm
27u = 375¢m — 21cm — 84cm = 270cm
lu = 270cm + 27 = 10cm
total = 375cm + 10cm + 3cm = 388cm
(a) 7em
(b)388cm

1lmediumD =5+1+1=7
1 medium = 3.14 X 3.5 X 3.5 + 2 = 19.2325
1large = 3.14 X 45X 45+ 2 = 31.7925
1small =314 X 2.5 X 2.5 = 9.8125
31.7925 — 19.2325 = 12.56
(a)1X4+5=9m
(b)12.56 X 4+ 9.1825 X 2 ~ 69.87m

(a) 360° —122° ~ 137° = 101°
(h)180° — 43° — 34° = 103°
103° —17° = 86°
(c)360° —129° — 103° — 34° = 94°

1 3 7
evenmq—-l——é—gzgﬁ

pack — 280 +7 x 18 = 720
more — 20X 8 = 160
) 720 — 160 8
“ 20

28+ 20 =48
(a)720
(b)48

Q17) 16 notebook — 4 X 5.40 = 21.60
2¢ — 60.30 — 21.60 = 38.70
2c —25.80 x 2 = 51.60
dif f —51.60 — 38.70 = 12.90

12.9
—— X 100% = 25%
51.6

1 set dif f — 103.20 — 5.40 = 97.80
set — 1467 = 97.80 = 15
NB —15 % 4 = 60
(@)25%
(b)60




